ofefsh B2 57} F= 8 4WH AFEBYO] BHE 4 e BoiAie 4
F FHAR 2 St Qopeld] oA e,

0 1 b)

-3

> &

[> ®Eeh: 7777555511101000

B

%

o]

A
B

it o iy

1 e X
e

o
AR R 2 4= 7777555511101000

5 HEHH 7PY =2 A RE & £AE AEdE
O™ Huytt,
4= 1 T777555511110000

2




AEAA

§ 5 40 3Yuch

R

o] y]

22

=4...220]22

182 = 40




Az AAIL,

Oae =

3.

31572891

b=

ull
KO

.l

= 31579 2891
= 31572891




e = oA (dlZhe] A4 —(
TSHAL L.

O A% @ €24 Q@ 4 @ Az
o ztel A = 274
2Zko] T4 = 170
€7 A% =17

oA 2 -1+ 1 = 2(7H)




He wS 297mbE] ) 255 Fot Ut
o]t

KNS L EREETRE

opN 1k P

=
=

ot

[ 2
> =g 19550 0He]

ehe Folohe mlF assuhelH 25% Feh Hel

A==

5
aeto} FH1017L e

(&E7F H2 Foleh 4)= 485 x 25 = 12125
(BR0]7F 2 Folst )= 297 x 25 = 7425

— 12125 + 7425 = 19550(1t2])




